
This document contains screenshots for the sample size analysis for Homework 2. 

• Click the “New Study” button to start a new power and sample size analysis.
or

• Click  the “Upload” button to upload a json file with a previous study design that you have saved.



For a new study: Add title here



Click the “Power” or “Sample Size” button depending on what you want to solve for. 
In this case, we are solving for sample size. 



On the “Target Power” screen, we indicate that we want power values of 0.85, 0.90 and 0.95. Type each 
desired power value and hit enter after each. 

You can specify multiple values of interest in the same GLIMMPSE study design. 



We now move to select the hypothesis test of interest. Thus, we click the Hotelling-Lawley trace. 



Now we choose the Type I error rate. 

We type in 0.05 and then we click the plus sign to add this value to the design.



Enter outcome variables here.

Then, click the plus sign to add the outcome entered to the design.



This is a longitudinal study with three repeated measurements of the response variable.



Here, we have named the dimension as time. 



Here, we define the type of data that our dimension “time” represents 



Enter the number of repeated measurements of the response variable.



Here, we enter the spacing values



This screen shows a summary of the information entered for the repeated measures.
Additional note: GLIMMPSE can measure a given response variable up to 10 times. 



Here, there is no clustering, so we leave the clustering screen blank, and move on to the “Define Fixed Predictor” screen. 



Here, we define the fixed predictor.



Now type in Treatment and hit enter. Remember, predictor variables are the same thing as between-ISU factors. 



Here, we define what type of data and move on to define the groups.



Here, we define the groups.



An interaction hypothesis is what we have described in lecture as a between-by-within independent sampling unit hypothesis. 
Interaction hypotheses allow us to ask questions about the effect of two or more factors or variables. In longitudinal studies, 
the interaction hypothesis of interest in frequently a time-by-predictor interaction, such as time-by-treatment or time-by-
intervention. Click the treatment by time interaction. 



In this example, “All mean differences zero” was selected to indicate the type of contrast desired.



This screen gives you the option to select a value different than zero for the contrast comparison constant.



The next screen allows one to specify relative group sizes. Here, study participants are equally randomized to the two levels
of treatment: sensory focus (treat) and standard of care (control). Thus, we leave the screen as follows. 



Enter the mean values for the outcome variable within each group as shown below.



0.13

Often, in sample size analysis, it is useful to consider mean differences larger or smaller than our initial guess. Here, the initial 
guess is well supported by the literature review, so we type in 1 on the next screen, to indicate that our initial guess is the 
right size. The Scale Factors option in GLIMMPSE is one way of ‘Accounting for Uncertainty’ within GLIMMPSE. 



Enter the standard deviation as shown. We discussed variance in the lecture. 
Standard deviation is simply the square root of variance. 



Enter the ratios of standard deviations for time.



Enter the correlations you expect to observe as shown below.



Again, because we have good evidence from the literature review for the 
variability and correlation, we enter 1 for the scale factor as shown below. 



When we hit the “Calculate” button, the results are shown in the power results table. 



We can save results and study design inputs by using the “Save” button. 

Note: We were trying to find a sample size large enough so that we had power values of 0.85, 0.9, and 0.95. Those numbers are
shown as “Target Power.” They are called “Target Power” because that is what we were aiming for. You can see that we got 
power values slighter larger than the target values. In fact, the power values are 0.869, 0.909 and 0.957. The reason that the 
actual values are slightly larger is because sample size is discrete. This is because we can’t recruit a half or a third of a person. In 
addition, we need to have an even sample size, since we have equal randomization into two groups. 



In case you are interested, here are the matrices 
that were used for the calculation. 


